hich of the following
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10. [f the calculated value of a test stat

11.

12;

135

14.

15,

16.

17

18.

19.

20.

istic is larger than the tabular value, the null

hy pothesis should be b. Rejected

:: :r\\(::l}:r(::ljinaie Egton by and(d)
Operations Research approach is
a. Multi-disciplinary

c. Scientific

b. Intuitive
d. Collect essential data

A feasible solution to a linear programming problem __ X
a. must satisfy all the constraints of the b. need not satisfy all of the constraints,

problem simultaneously only some of them
¢. must be a corner point of the feasible d. must optimize the value of the
objective function

region
Service mechanism in a queuing system is characterized by
a. customers behavior b. servers behavior
¢. customers in the system d. server in the system
Managerial decisions are based on
a. An evaluation of quantitative data b. The use of qualitative factors
¢. Results generated by formal models d. All of the above.

is a mathematical technique used to solve the problem of allocating

limited resource among the compeling activities

a. Replacement Problem b. Assignment Problem

¢. Linear Programming problem d. Non linear Programming Problem

Network models have advantage in terms of project

a. Planning b. Scheduling,

c. Controlling d. All of the above

The difference between total float and head event slack is

a. free float b. independent float

¢. inlerference float d. linear fioat

The quantitative approach to decision analysis is a-

a. Logical approach b. Rational approach

¢. Scientific approach d. All of the above

The mathematical model of an LP problem is important because

a. It helps in converling the verbal b. Decision-makers prefer to work with
description and numerical data into formal models
mathematical expression

¢. Itcaptures the relevant relationship d. Itenables the use of algebraic
among, decision faclors technique

Which of the following is an assumption of an LP model?

a. Divisibility b. Proportionality

¢ Additivity d. All of the above
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[Qggc;jg;ive]
| Answer question no.) & any four (4) from the rest |

What are the different sources of data collection? Explain all primary
sources of data collection.

What is an index number? Explain the steps involved in the construction
of an index number.

Distinguish between
a)census and sample
b) sampling and non-sampling errors

a) Calculate Karl Pearson’s correlation coefficient for the given dala.
X 139 |65 )62 |90 |82 |75 |25 |98 | 36 [ 78

Y |47 | 53 | 58 |86 |62 [ 68 | 60 | 91 | 51 | 84
b) Discuss the basis of probability sampling,.

a)  What are the uses of index numbers?
b) Discuss the problems in the construction of index.

A small project is composed of activities whose time estimates are listed
in the table-

ri\ﬂvilv (i-))[Optimistic time(o)[Mosl likely time(m) Pessimistic time(p)

[ 12 ] 1 7
R 4 N S

- 1 2 2 8
B ! I 1 RIS = B2 L

35 2 5 14

o a6l 2. ) 8

| 5% 3 6 5

a)  Draw the project network.
b)  Find the expected duration and variance of each activity.

txplain three models of Operation Research. Describe the first five steps
of methodology of Operations Research

From the data given below find:
i) The two regression coefficients.
i) The two regression equations.
Marksin |25 | 28 (35 |32 [ 31 | 36 (29 | 38 | 34
Economics

i
(%]

Marksin |43 | 46 |49 [ 41 |36 |32 |31 |30 [ 33 | 39

Statistics

Marks : 50

4+6=10

5+5=10

5+5=10

§+2=10

5+5=10

5+5=10

5+5=1()

5+5=10

[31 USTM/COE/R-01



